HSSC CET Mains Group 55 Work Supervisor Question Paper 14 Jan 2024
HSSC CET MAINS GROUP 55 (SUPERVISOR CIVIL)

‘1. The main occupation of Paleolithic
people is
" (A) Hunting
(B) Agriculture
(C) Pottery making
(D) Animal Husbandry
(E]) Not attempted
2. The bearing of a line in the direction’
of the progress of survey is called « =
(A) Back bearing :
(B) Reverse bearing:
€ Fore bearing
(D) Front bearing
_(E) Not attempted

3. The maximum number of vehicles t::-n-
a road that can pass a given point in
an hour is defined as the __of

road lane.
AT Capacity (B) Inefficiency |
(C) Power (D) None of these

(E) Not attempted

4. Accelerators, normally | the |

setting time of concrete,

_.‘,(Aj/.fncrease | ERE
(B) Stops %%
(C) Reduce

(D) None of the above
(E) Not attempted

5. A pitched roof is one where the slope -

In any plane exceeds to
the horizontal.

@A) 1° 7

(C) 5° (D) 10°
(E) Not attempted
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6. What is the functio

n of a ripper on a 6. WWWMWWW&%?
o S g e B o
A
i /[Af]/'ﬂl Push earth and rocks (&) gt
(B) To load materials onto the machine (B) W W amnf wig FHF fom
(€) To crush hard rock (C) 3R Tz F Faert ¥ forg
(D) To move freely on marshy land (D) Teeedt o T w9 & =or ¥ R
(E) Not attempted (E) 3twanfem
7. The_____ ofa building is the 7. SARA U T 1 e B
part of a structure that transmits the & S iR =t wEr 3 % o wire =i
load to ground to support the :
superstructure. SHE tﬁ gl % 1
V(;r)/ Foundation - ﬁE! (A) t':‘m
(B) Plinth o (B) T
(C) Beam (C) sitm
(D) None of the above (D) SR & § g T
(E) Not attempted (E) srsfea
8. Carpet area of residential building is 8. FEHE W R FHCAT
50% to 65 % of 50% ¥ 65% BT & |
(A) Plot area (A) e ufEr |
!JBJ/Floor area @ A T o
(C) Plinth area (C) o7 i o
(D) Site area (D) T T
(E) Not attempted (E) STwem
9. What is the recommended minimum 9. &fem &
spacing between hatching lines? FME 7
M) Less than twice the thickness of () i 3 T i Y < e &
the heaviest line in the drawing a'fﬁ e :
(B) 0.7 mm or less (B) 0.7 Fodt a1 3w@ #m
(C) More than twice the thickness of (C) Zrém T Wy Y < e A gy
the heaviest line in the drawing ¥ e
(D) There is no recommended (D) ¥ srsift = e T 2
minimum Spacing

(E) Not attempted (E)
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10. is a type of semiconductor

memory that uses bi-stable latching
circuitry to store each bit,
\/[Aj/D_vnamic Random Access Memory

(DRAM)
(B) Display Data Random Access

Memory (DDRAM) LEI 12(5]
(C) En Route Automation EF i

Modernization (ERAM)
(D) Static Random Access Memory (SRAM)
(E) Not attempted
11.  Everybody in a room shakes hands with

everybody else. The total number of
handshakes is 45. The total number of

persons in the room is //
(A) 9 q/[B] 10
(C) 5 (D) 15

(E) Not attempted

2. Characteristic compressive strength
of 15 cm cube after 28 days,

expressed in
(A) N/mm Mmmz
(C) N-mm (D) N/mm?

(E) Not attempted

is the ability of a
material to restore its initial form and
dimensions after the load is removed.

(A) Ductility B Elasticity
(C) Porosity (D) Hardness
(E) Not attempted

is primarily used for

measuring horizontal and vertical
angles.

(A) Compass

(B) ]Z?fumpjr level

[CT Theodolite

D) Fly level

E) Not attempted

10.

11.

12.

13.

14.
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(A) 9 (B) 10

(C) 5 (D) 15

(E) 3Tsemfi
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qdies f, T = #IS
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(A) N/mm (B) N/mm?

(C) N-mm (D) N/mm?
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(D) W1 wae

(E) 3rsfera
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15. Which of the follo

wing is not a e of
steel bridge ? -

(A) Suspension bridge
(B) Steel truss bridge
(C) Steel girder bridge ChEE
V{Uj';.segmcntal bridge et
(E) Not attempted
16. The exchange of services, information

and product from a business to a
consumer is

(A) C2B

A€ B2C

(E) Not attempted

(B) C2C
(D) B2B

17. Which number will come in the place
of question mark ?

X
127 W

(A) 190
(B) 221

(C) 236
/ﬂﬁ:ﬁ

(E) Not attempted

8. is a pipe which is used to
provide flow of air to or from drainage
system.

(A) Soil pipe
Vent pipe

(C) Water pipe

(D) Waste pipe

(E) Not attempted

15,

16.

17.

18.

CG - ws24

fr=ferfen # & - s get =1 weew
TR

() wEivE B

(B) et zu B

(C) Ve firde fim

(D) Arifeer fora

(E) arsnfira

U SHIAE H ITHIRT T e, gEe
3R I F AEH-TEH

HECATA & |
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19. Additional moulding provided under
the nosing to improve the elevation of

step and to provide extra strength to
nosing end of stair is called

\,{ﬁ}/Scotia (B) Flight

(C) Going (D) Sofit

(E) Not attempted

20. Which drilling operation provides a
tapered entrance to the hole ?

% Uﬁiﬁunmr sinking

B3
] J \iﬂﬁappmg X
\Qgﬂj/(:nre drilling

:_.L[D] Counter boring
(E) Not attempted

21. Whatis the main purpose of varnish ?

(A) To color surfaces
(B) To protect surfaces from damage
(C) To provide a matte finish

Vga)/ To provide a shiny finish
(E) Not attempted

22. What is the angle between the three
mutually perpendicular edges of a
cube in an isometric drawing ?

(4) 90° qa/ 120°
(C) 180° (D) 360°
(E) Not attempted

23. The machine parts of the computer is

called a
(A) Software
) Hardware
(C) Bits
(D) Data
(E) Not attempted

| 19.

20.

21.

22,

23.

mﬁéﬂéﬁwm%m%%
AT R 6 st Trreeht e
wfw_ Fmemrd

(A) whifean B) w5
(C) Tiign (D) Hife
() arsnfem
ﬁhm%ﬁﬁﬂmﬁbﬁﬁaﬂ;mW
AT Sel JEH HA B 7

(A) Fr3e fifd

(B) 2fim

(C) iR fferr

(D) 13 FfT

(E) st

1 7 qe7 SR R 7

(A) WaEl B TR & fu

(B) WaEl i T & w=H F o
(C) e 5 wem = & o

(D) =R ol yom #3 % fora
(E) 375

Th TN @ 3 v u % i
maaﬁﬂﬁ%aﬁamﬁwwiﬁm%?
(A) 90° (B) 120°

(C) 180° (D) 360°

(E) Ir@mha

R o TR Gl T A2 |
(A) BT .%EﬁE?

(B) BRI o

() focm

(D) S

(E) 3T
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24.

are saprophytic Protists.

menﬂageuates

(B) Euglenoids
(C) Protozoans EINEE
(D) Slime moulds &%
(E) Not attempted =
tS;:f l_cslf Concrete cube {or compre
(A) 100 x 100 x 100 mm

UBJ 150 x 150 % 150 mum

(C) 150 x 100 x 100 min

(D) 120 x 120 x 120 min

(E) Not attempted

25.

26. What is the function of hvdrayl;
1at ra
fluid in an excavator ? e

(A) It powers the cab and rotates the
house
(B) It moves the undercarriage

\,{E]/It/ lifts and lowers the boom and
bucket

(D) It controls the excavator's
steering

(E) Not attempted

7. are end supports of the
superstructure of a bridge.

(A) Wing — walls
(B) Piers
(C) Approaches

\/{'DT Abutments

(E) Not attempted

Unit of measurement of Damp proof

course is
(A) m Mﬂ-m
(C) kg (D) cu.m

(E) Not attempted

ssion

24,

25.

26.

27.

28.
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TUYE PR IR TS 2
(A) m (B) sq.m
(C) kg (D) cu.m
(E) 39T
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29. What is the angle between the two
cutting lips of a twist drill ?

(A) 90° (B) 100°
ey 118 = 1607 Iy
(E) Not attempted Il?i!

30. Manav Rachna International University
of Haryana was earlier called as

(A) Kurukshetra Institute of Technology
(B) National Institute of Technology

Career Institute of Technology
and Management

(D) Lingaya’s University
(E) Not attempted

31. The Scientific study of rocks ig
called as

metl'ﬂlﬂgjf

(B) Pathology

(C) Pedalogy

(D) None of the above
(E) Not attempted

32. Small wooden blocks fixed on
Principal rafter to prevent purlin
from sliding are called

V(Bj/iaatten

(D) Hip rafter

(A) Cleat

(C) Ridge

(E) Not attempted
3. A wood panel glued under pressure

from an odd number (usually 3 to 13)
of layers /piles of veneers is known as

(A) Sapwood
(C) Cardboard
(E) Not attempted

(B) Hardwood

\{DI/ Plywood

CG - WsS24

29, Eﬂﬁﬁﬁ%%mﬁnm%ﬁﬁﬁaﬁw
FTEME 7

(A) 90° (B) 100°
(C) 118° (D) 135°
(E) i
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(B) Fefrerisht
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(D) 3T ¥ § HE 7
(E) i
32. %ﬁﬁm@%ﬂaﬁ%%ﬂg@m
T B T s o)
HET ST | |
(A) Fefte (B) ¥
(€) = (D) &7 Tex
(E) 3vaifyg

33. ﬁﬁm%%ﬁwﬁm(ﬂmﬁtqﬂ:aﬁ
13)%qﬁﬁwﬁﬁﬁﬁ§qaﬁ%ﬁ
ﬂqa%n%rﬂ___mgramh
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(C) réare (D) wgE
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34. Which of the followin i
; s a i
every plain scale P oy S
(A) E‘i:lc Zero i.s placed at the end of
e last division from left side
(B) The scale is divided
parts
(C) The sub-divisions are marked in
ﬂ.lf: last division from zero to left

c
\/E}(’?‘i;: zero of the scale is placed at
the end of the first division from

left side
(E) Not attempted

into unequal

35. What is the function of a pipe laying
machine ?

(A) To push earth and rocks
(B) To load materials onto the machine
(C) To crush hard rock

ﬁ]/Tu lay down large steel pipes
(E) Not attempted

is the reference point of

5. A
known elevation.
El4T [E]
/[ir]ﬂﬂench Mark EI '
(B) Datum
(C) Back Sight

(D) Line of Sight
(E) Not attempted

The depression or bend provided in
a drainage system which is always

full of water and prevents the entry
of foul gases into the atmosphere is

termed as a

(A) Tap (B) Sink
15;)/-[-1.313 (D) Water closet
(E) Not attempted

35.

36.

37.

34. Frafefiga ¥ 4 -4 femas we
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o IR
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(A) gt SR TFI B G H O
(B) wefiw = e F % T
(C) &1 Ush I Foe & fo1g

(D) =12 Wit urgy famm % g

=% [=]
=

(E) i
HAAIEE H A e R
(A) 3= A

(B) <A

(C) &% HTge

(D) T 36 HIEE

(E) 3T

U T emrt woTett ® s T
71 virg Forert gitem Ui w0 e @ R R
ISR H BiehTen i % e & Ukl
2,3 FEGIR

(A) (B) fén

(©) 21:[ [D}EE{HF?!@E
(E) ITraned
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44.

\/m’Tm

45.

V{—B‘[/ Fired clay, calcium silicate and

ue)/B}r ‘—--pass road

£ bricks according

to British Standards?
B
E o)

(A) Only firedq clay
(B) Fired clay ang concretle
(C) Fired clay and caleium silicate

concrete

(E) Not attempted

Purpose of providing

divide the tn?ﬂl_ﬂ_ggth__nf_bridge onto

suitable spans with minimum
obstruction to the stream of river.
(A} Abutments

\/ﬂ}}’ Piers
(C) Pile bents
(D) Approach
(E) Not attempted

Atleast windows cn the
opposite walls serve effective
ventilation.

(B) Three
(C) Four (D) Five
(E) Not attempted

To enable free movement of traffic _
around amn urban area, a circumferential
road is constructed which is called
(A) Loop roads

(B) Ring road

(D) Trunk road

(E) Not attempted

CG -ws24
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-t fufis amfed =1 3w e
SR 7

() S wrehh % fird

(B) T BE firdt 3k ke

() reft 8 firdy v Hform Referie
(D) et 7 for, Hfeverm feferz o

R
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43. YO O 9 O e
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I T O feife e 2
(A) UsgeHe E4i[E
(B) fomr s
(C) WIEe seH
(D) T
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(A) § (B)
(€) =W (D) W
(E) s
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46. What is paint ?
(A) A mixture of water and oil .
A dispersion of pigment in drying
o
(C) A type of wood vaf‘nish A
(D) A solution of salt in water =%

(E} Not attempted =

technique permits the direct

reading of any printed character

without any special ink.

(A) Magnetic-Ink Character Recognition
(MICR)

) Optical Character Recognition
(OCR)

(C) Optical Mark Recognition (OMR)

(D) Mouse/keyboard Capture
Recorder (MCR)

(E) Not attempted

47.

48. Mercury cell suitable for low current

devices like hearing aids, watches,
etc. consists of as anode.

[A) Silver-mercury amalgam
«_~B] Lead-mercury amalgam
(C) Pt-mercury amalgam
(D) Zinc-mercury amalgam

(E) Not attempted

50.

49. Choose the option which most closely
resembles water image of the given
word.
monday ¥
(A) yadnom \LBI/T{;IJHOHI
(C) requom (D) wmowqea
(E) Not attempted
Maximum permissible F.A.R. for

Industrial building is
(4) 1.2 B) 2
(©) 0.7 UBr 2.5

(E) Not attempted

=]2.

46.

47.

49,

50.
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YewTe ?

(A) Tt 3 G = fygu

() GEm Tret ot # 5vis =1 Seg
(C) T8 =T T Th TR

(D) 9t % Tk w1 ferm

(E) st

dehrieh o forelt s wndt
% foefl oft gfm s1em = 69 vy &
AT o R |
(A) HRRw-g% Figet Wit

(g

(B) 3ifesher e Wil (afriam)
(C) et 7reh {RIRNM (Srmam)
(D) M [HiEIE Hoet Wit (UnEiarm)
(E) wafa

. T e g S aaw o, afe

e, B IUgF IR 6 AT F 9w I =9
q TR | i

(B) Hrar-uit i frsreng

(C) Pt-yR S forseng

(D) STEAT-9R <t g

(E) ARG
mﬁwmw%&,%ﬁﬁqwm
%Hﬁ'ﬂﬁﬁﬁ%ﬂ?ﬂ%l

monday

(A) yadnom (B) ysbrmom
(C) Aequom (D) wowqea
(E) 3T9amig

I o % e s e
TH.T.3R. 21

(A) 1.2 (B) 2

(C) 0.7 (D) 2.5

(E) 3raarféa
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51.

52.

53.

outer edge of the
Ne paveme i
respect to the inner uclgc.n =

\./(.Pﬂ:a.tnber

(B) Gradient

(C) Super elevation
(D) Stopping distance
(E) Not attempted

is a square or rectangular
block of stone or concrete placed

under beam or truss, to spread the

load over a large area of the wall.
Gabble (B) Cleat

(C) Template (D) Verge

(E) Not attempted

is a small metal plate with
three fingers at one end used to take
up the sag of the line.

,\_/[mmgle plate

(B) Scutch plate
(C) Club plate

(D) None of the above

(E) Not attempted

What is the approximate operating

weight of a compact or mini excavator ?

(A) 0.7 to 1.5 tons

~&487 1.5 to 3 tons

(

C) 3to 5 tons

\flﬁi 0.7 to 7.5 tons

(E) Not attempted

51.

52.

53.

54.
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—__ i R S ey peam
SR TR ) SR e afw % 6
T w= § wem F) Sraet 3w
I T R |
(A) HrRr
(B) &t

(C) gT uferaem
(D) =ift faedm
(E) s

4R % & 52 &9 T 9N A e & R,
&\ a1 79 % N @ T 9 91 SR
I Ueh TTeRR AT TGN &A1 & |
(A) Tt (B) =il

(C) 2o (D) =

(E) Awiém

__ u1g ¥ UF B Wi Bl & faEs
e R f T aed € < e
e =t = € |

(A) o <

(B) &hd &

(C) 8 wie

(D) 39 | | F T

(E) JsEiRE

U e A1 o TahdeX H UG
FTRFET T TR 2

(A) 0.74 1.5 ENCE

(B) 1.5° 3 E, ;

(C) 3" 5

(D) 0.7R 7.5

(E) rwaiEa
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55.

S6.

57.

S58.

59,

refers to the software whose
source code is available to customers
and it can be modified and redistributed
without any limitations.

Open Source Software (OSS)

(B) Freeware ENCE
(C) W3C YR
(D) Proprietary software =
(E) Not attempted
On 2™ October 1959 Jawaharlal Nehru
officially inaugurated the establishment
of Panchayati Raj bodies for the first
time in India in this State,
(A) Tamil Nadu
(B) Kamataka

vﬁ,ﬁaiaathan
(D) Himachal Pradesh
(E) Not attempted

A horizontal layer of stones or bricks
is known as

(A) Course
(C) Bond
(E) Not attempted

(B) Joint

‘JB]/ Bed

Chain is composed of piece of
galvanised mild steel wire 4 mm
diameter called

(A) Tallies
(C) Knots
(E) Not attempted

(B) Rings

\JPY Links

Why is paint applied to metallic and
wooden articles ?

(A) To make them heavier
(B) To give them a better smell

To protect them from corrosion
and improve their appearance

(D) To make them more brittle
(E) Not attempted

55.

56.

57.

58.

59.

I e e Fret shey ity
(A) AR (37
(B) SHIER S%.50.

(C) wac

(D) STt A

(E) arsamfem

WG # et 9R o v i o 1

ﬁm%ﬂ%ﬁwﬁ

mmﬁmwmﬁﬂ?

(a) aferTg

(B) Fies

(C) TeEm

(D) Temmeret wesr

(E) 3Tmfém

werl o 42 o S T =y

HEN W R |

(A) e (B) wie

(C) =18 (D) &=

(E) 3T9aifim

4%%%3@%@%%@

AEeS Wiel IR Bt ® Ry w8l

SR |

(&) it (B) for

(C) e (D) T

(E) 3rvafim

H@?mﬁmﬁmﬁzaﬂm

ST g ?

(4) 3% it ¥ % forg %ﬁ

(B) 3% WER iy W F Ry _

(C) 3% &R0 & =9 3f Iy sufeufy &
U 1 & foqu

(D) 3% 3ifreh TR = % fqe
(E) 3Tsmfdm
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welding
poe
(C) Riveting =

(D) None of the above

(E) Not attempted

Mix pmpnrﬁun of M20 grade concrete is

61.
\/fA]/l:l.S:S

(C) 1:1:2
(E) Not attempted

(B) 1:2:4
(D) 1:4:8

guilding having height more
95.0m and less than 30.0m, Front

space width is

62.

(A) Sm
(C) 3m (D) 10m
(E) Not attempted

63. Which of the following isa -
"‘”’“Wd scale
according to BIS? B ! |

1:20 B) 8:1 1“*"%"@@

(c) 1:1000 (D) 20 :1 TR

(E) Not attempted

are developed with
amage hardware
any other

4. is a sqftw
an m’c_qnﬁnn to d
devices, steal data or cause

trouble to the user.

(C) Worms
(D) Ransomware

(E) Not attempted

60.

61.

62.

63.
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EHig =
H — e
() AfeeT
) Afeet
(c) fafé
(D) i % i T
()
Mznﬁgﬂﬂzzﬁrfﬁw?@fﬁf%l
() 1:1.5:3 (B) 1:2:4
() 1:1:2 (D) 1:4:8
(E)
zsorﬂaﬁmﬁﬁaﬂwnoﬂrz{ﬁﬂ
mﬁmﬁmﬁmﬁaﬁ’rw
B e |

(a) 5 ) 20 @
© 3 (D) 10
(E)
Haméeg = TN i & HE-H
a@r%rmmengiﬂﬁﬂ%? EyeE
(A) 1:20 B) 8:1 Eﬁ‘
(C) 1:1000 (D) 20:1
(E) T

g & Fl gEam
mmﬁaﬁgmﬁqgaﬁ,gaaﬁﬁﬁa
o TR B I 3= NI TETH &
Wﬁﬁmﬁmf’m’mm%l
(A) AT
(B) SEE
(C) o
(D) Tawa
(E) ST
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by fusion is calleq

Welding
(B) Bolting EIyE]
(C) Riveting 6]

(D) None of the aboye
(E) Not attempted

61. Mix proportion of M2(

\_/{A]/I:I.S:E

(C) 1:1:2
(E) Not attempted

Brade concrete ig

(B) 1:2:4
(D) 1:4:8

62. Building having height more than
25.0m and less than 30.0m, Front
space width is

(A) 5m
(C) 3m
(E) Not attempted

63. Which of the following is a

recommended enlarged scale
according to BIS ? Bt %
1:20 (B) 8:1 16 Ly
| = %

(C) 1:1000
(E) Not attempted

(D) 20 :1 2

is a software developed with
an intention to damage hardware
devices, steal data or cause any other
trouble to the user.

(D) Ransomware

(E) Not attempted

60.

61.

62,

63.
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CG - wsa24
m%%ﬁ:ﬁﬁmmﬁsﬁzﬁm
B wmmd
(A) afegn
(B) =
(C) fafén
(D) 3udrFa o & =
(E) stsmfem
M20 U2 % #1 fror s 2l
(A) 1:1.5:3 (B) 1:2:4
(C) 1:1:2 (D) 1:4:8
(E) sTganfema
25.0 M | Ffrs 3 30.0 frex & =1
ST A WS H A 6 e 6 e
Bt 2 |

(A) 5 i (B) 20 =
(C) 3 #t (D) 10
(E) 3R
ooy % sEn Fefafes § 8 SR-a
TS Tur fya ® 7 ElyiE
() 1:20 B)8:1 i
(C) 1:1000 (D) 20: 1
(E) v

% Wi & R aEEw
TR T THAE TR, T S/ FH
A1 ITARTHA Bl HI§ FA RAC TEAH
Jeva & fofoa e man 2 |
(A) PR
(B) ST
(c) ==
(D) Tgwet
(E) 3rvnfee
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65. Which of the following extension is
used to save the excel files ?

L{BT/ Xlsx

(A) .doex
(C) .ppix (D) .in !;._1 12[5]
(E) Not attempted Ged

66. Haryana is the first State to adopt

‘_/Kj Mabhila Police Volunteer Initiative
v}BfaE-gnvcmance initiative

(C) Mobile police stations

(D) None of the above

(E) Not attempted

67. Deviation by a prism is least for

\/fmiulet ray

(C) Red ray

(B) Green ray
(D) Yellow ray
(E) Not attempted

68. The type of forests found in the areas
of coasts influenced by tides

(A) Shola Forests
(B) Evergreen Forests
(C) Desert Forests

V(BJ’ Mangrove Forests
(E) Not attempted

69. Which type of bulldozer is suitable for
use on marshy land ?

(A) Large sized crawler dozers
(B) Bulldozer shovels
(C) Pipe laying machines

) Swamp bulldozers

(E) Not attempted

216

65. UdHl BIsd i 89 & &

66.

67.

68.

69.

ﬁmﬁwﬁmﬂ

ﬁﬁﬁmmﬁmmmﬂﬁmmg?
(A) .docx (B) .xdsx
(C) .pptx (D) .in
(E) vt
ﬁwﬁmgﬁw
gEel T 2 |
(A) mfeen gfers @ et vre
(B) ¥-"a+H 9Be
(c) wferefier gfera weam
(D) 3T # @ Hig 7
(E) 3rsanf
T 10 gra fererem % form
AT F |
(A) T R (B) B R
(C) wTer fertur (D) dielt ferer
(E) ST9afia
T &5 W SR &y B §, e
YHR % I I I § |
(A) T 59
(B] HEEER T EE
(C) Ty 7 Ej ,
(D) #m T
(E) 3R
foP TR, 1 e cereeh ot w v
o for i s 2 2

(A) W& ITHR * FHIR SRR
(B) SETEIoR Ve

(C) ey fera™ areht mfid
(D) TG Fereier

(E) 39
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The space on bo i
- 1 { the
carriage way to protect the road isg

known as

hould 0
3 [S;;z:;a:rs {B:l [‘m‘mntinn
(C) (D) Alignment

(E) Not attempted

71. ——isthe ratio of built up area
allowed to the plot areg available
\y
Flﬁil (=

E ]

(A) Plinth space index
(B) Floor space index
) Plot space index

(D) Space index
(E) Not attempted

72. Aggregate retained on
is identified as coarse aggregate.

AT 4.75 mm (B) 4.5 mm
(C) 4.25 mm (D) 4.75 cm

(E) Not attempted

sieve

The of steel is greatly reduced
at temperatures which are commonly
attained in fires.

(A) Colour
(B) Length
(C) Strength

None of the above
(E) Not attempted

73.

4. _is the branch of surveying

which deals with the mcasurex_mnts
of relative height or depth of different
point on the surface of the earth.

(A) Contouring
»«EBJ/feveHing
(C) Tacheometry

(D) Triangulation
(E) Not attempted

70.

71,

T2,

T3.

T4 L]

17-

CG -wsa4q

TS g e Hiw
“"“ﬁ'___:qmﬁ%%ma:ﬁ{#
(A) T B)
(C) v D) FeE
() 3wt
ST M 2 D v i i
I i

(A) Tt g S

(B) in O s

(C) eiie v 32

(D) E g2

(E) Frsfem
%o W T e wfite AR
= & T 8 T I

(A) 4.75 forft (B) 4.5
(C) 4.25 fondy (D) 4.75 T
(E) ST

A T =iel EEGE
ST & o a3 S 2
() T

(B) @S BN
() ufe e
(D) S0 H & S T

(E) STSemfe

_ [dwe <l U URE R SO
%1 Tag W fafte figst A aia S
TR % A9 ¥ et |

() S

(B)

(C)

(D)

(E) s
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B3.

B4.

85.

81.
82.

Whert the 1T i 83.

same floot, it is called

circulation-

V(A( Inclined B vertical

(C) Direct XE—}" Horizonta

(E) Mot at‘tempteci

Topping concrete 18 BEILE_E.__d_E_V_f-'I'IIY 84.

with the GE B e and its

surface is thoroughly tamped and

Aoated with- n foats till the

cream of concrete comes at the top-

(&) Float

(B) Trowel

(C) Masons square

Straight edge

(£} Not attempted

e AR the walls mnsmlcted 85.

on both the sides of the aputments to

retain the _Bmhmnkmﬂﬂf‘—"‘t_appmas:hes

and Ei.?grmmﬂﬂm—ﬂﬂm the

“W,aﬂdtﬂpw water

(Al Span (B) Approaches

Wing — walls (D) Apron

(E) Not attempted

-19-

%}ﬁﬁmm e =
wﬂﬂﬁmmﬁ%l

(p) FEH

) fan I

{G]éﬁ?ﬂ _

[mgqﬂﬁﬁ#zﬁgﬂ?ﬁ

() peETted
24a%qﬁﬁﬁ§ﬁﬂt@'ﬁﬂmfﬁﬂ
mﬂ?ﬁﬂmﬁﬁ‘%ﬁ’ﬂﬁ:’ ﬁfgﬁ[”
ﬁaﬂﬁqﬁﬁm '

(A) 10 @) 30

() 20 (D) 40

(E) SyorETd )
mq&dﬂmﬁﬁrnﬁﬁ%xﬁmﬁ,mﬁ%
________Fqﬁa'ﬁlm' et ST @

(a) g9 BT B) TEIq

() IE o) afas

(E) et

ﬁﬁﬂﬂsﬁzﬁr Tﬁﬂﬂiﬂrﬁmﬂ
ﬂﬁwmi,aﬁmﬂqﬁ'ﬁaﬁ
mﬁﬁmﬁmmm%aﬂtaﬁ%
ﬁﬁ@%mﬁﬂﬁ =TT & = a6
ﬁmﬁaﬁﬂﬁmqmm|
{mg I

(B) S
{C]ﬂﬂqﬁ%ﬁﬁt ‘E%
(D) B2 =T

(E) FTuATEE
_____._-uﬁlﬁﬁiﬁaaiﬂﬁmt@aa;
ﬂt‘ﬁg%ﬁﬁ;mﬁﬁﬁhmﬁm
o<l % 2At
nﬁaﬁg; b
4 (B) =
g o-ae (D) T
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86. If is present in excess raw
bricks shrink and warp during drying

and burning.
(C) Fly ash
(E) Not attempted

(B) Alumina
(D) Lime

87. Which drilling operation is used for
sizing and improving the geometry
and finish of a previously drilled hole ?

(A) Core drilling
(B) Step drilling

‘/(C]/ Reaming

Wﬁfp Counter sinking ;@ A
(E) Not attempted (=]
88. Which letters will come in the place
of 1@3&3&1011 marks ? T
: —f—J—— r
“I,R BN, L 2, 2 g
(4) J.G ) JH 27
(C) K.H D) KI g

(E) Not attempted

89. The bugle of the first war of independence
in 1857 was sounded first by the
people of Haryana at
(A) Panipat
(B) Sonipat
(C) Kurukshetra

B Ambala
(E) Not attempted

0. Which type of line is used for drawing
visible outlines and visible edges ?

(,%{A} Continuous thin line (B type)

(B) Hatching line (B5 type)
’_» Continuous thick line (A type)

(D) Continuous thin freehand line

(C1 type)
(E) Not attempted

86.

87.

89,

90.

ReFHEH_ aftmams
1 i “ﬁgﬂﬁ&ﬂtﬂﬁﬁ%aﬂ?ﬁgﬁ

aireft & afit e & st €

() Tufer (B) T
() waré Tw (D) wmEH
(E) Frsfem

veel ¥ fger e o B < snfafy =
IR 27 30 guE F e e Rfe
HTIH w1 9T B S ® 7
() = fgferm

(B) R fgfem

(c) Tfim

(D) 1dex i

(E) 375

3 ol % wm v s e w2
T,R,P,N, L, ?,?

(A) J,G (B) JH
(C) K,H D) K,I

(E) 3T9=niaa

sﬁawn%aﬁﬁm 1857 % WY ToEl
I 5 T T S T |

(A) Irftag

(B) Etag !aﬂﬁEl'

(C) Foam =

(D) IT=TET

(E) Tsnfia

o FE ﬁﬁ@ﬂﬁﬂﬁi%ﬁﬁﬂm%m
ﬁmmaﬁl‘@wmﬁmmm%?

(A) iR vaeht Yar (B wew)

(B) 3R &1 (BS WhR)

(C) TR it ¥t (A Tohw)

(D) TR wereht weveer Y (1 )
(E) s
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ST Ao valled
" Goin
M ) g ':B] SEG‘I'_ia
(C) Nosing (D) Flight
(E) Not attempted

R
per day.

(A) Heavy traffic road
(B) _Medium traffic road
) Light traffic road

(D) Very heavy traffic road  soiaem
(E) Not attempted Elisti

carry 70 to 250 vehicleg

Least count of levelling staff is

JAT’@-% m ) 0.005m

(€) 0.5m (D) 0.0005 m
(E) Not attempted

A stair turning through two right
angles is known as

A Bifurcated Stair

(B) Half-Turn Stair

(C) Quarter-Turn Stair

(D) 3-Quarter-Turn Stair

(E) Not attempted
is a fairly impervious
barrier constructed across the river

or a natural drainage to create an
artificial lake or reservoir behind it.

(A) Canal (B) Bridge
Spillway (D) Dam
(E) Not attempted

Size of a standard brick (modular
brick) should be
V{ﬂ] 19 x 9 x 9 cm
(B) 20 x 10 x 9 cm
(C) 20 x 9 x 9 cm
(D) 20 x 10 x 10 cm
(E) Not attempted

-21-

92.

93.

24.

95.

96!

T T B T L - T L | ﬁﬁ‘["l‘lﬂﬁ
— R

(A) T (B) =il

(C) e (D) e

(E) 1ot

— WuiafA 70 & 250 A T ¥ |
(&) T} T T

(B) Weam wramm Hew

(C) &=hl I "2

(D) =&d Wil FEe v

(E) srsrnfem
S W% W SHAFH BT R |
(A) 0,05 =t (B) 0.005
(C) 0.5t (D) 0.0005 =i
(E) aTwnfég
T TR A Gearelt € i
% ® T H A SR
(A) drnfsra Hidt
(B) E%-2H Hiel EH@.
(C) TR~ High "
(D) 3-@-24 Hidl
(E) JTwatad
T A 36F 99 UH oW shiw @
FeATIE S % o & wles @ R
7 fafife © st svm e R
() TR B) 3
() far™ (D) =™
(E) 3wt
T W $2 (HTSIER $2) &l IHR
BFT SR |

(A) 19 x 9 x 9 Tt
(B) 20 x 10 x 9 &t
(C) 20 x 9 x 9 &l
(D) 20 x 10 x 10 &t
(E) ST
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97. The order and degree of the differential

equation

2 %
[l+(gj +sin(%}} S

(A) order = 2
degree = 3

(B) order = 2
degree = 4

&)Qéder =2
degree = %

(D) order =2
degree = undefined

(E) Not attempted

98. Haryana has a total of
tehsils at Present.

(A) 6 (B) 51
(C) 78 JBf 93
(E) Not attempted

99. The

include human excreta.
: w/w.aste Pipe

(B) Soil Pipe

(C) Vent Pipe

(D) Horizontal Pipe

(E) Not attempted

0. The programs and data present in the

memory is called as

(A) Hard copy

(B) Blank copy

(C) Printed copy
Soft copy

(E} Not attempted

dy

=872 [=1
3 ]
Eﬂ%

revenue

is any drainage pipe
that carries liqguid wastes that do not

98,

99,

100.

(D) 9 =2
feafl = smfonfea
(E) 35

T 7 giEmn § $e g
el 2 |
(A) 6

(C) 78

(E) 3Tsmfa
IS ST FeRTERt a1ge R i e e
I BISH 2 T H B T8 FA L |
() 3mfire argy

(B) forgt argy E\RE

() §2 urw Lol

(D) &iersr gy

(E) rvamfim

qar # g s stk 3w
FEl ST B |

(A) BT it

(B) &ieh iy

(C) fiies wnd

(D) | Hid}

(E) 3T

(B) 51
(D) 93
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CG - WS24
is ]_C.t_'!ﬂ"i'i?n as the brainof | 75, AR, W 1 R e
er.. AR |
oVice %ETRH
?rt}uf:essﬁlg Unit (CPU) hﬁfﬁ% safém gfre ()
e A8 by W
W (D)

::t?d | - (1) v
Lle? ollowing was the last 76. =R 1 A D S wr sifm O
 Singh AA0) T o fr
LpS TSmhgh J[E]]’ :E war g

ing o) 3¢ fag
'l;h dSmgh (D) W Toia T
e (E) 3T9emita
kkolam’ battle was 77. WG TR I * "= @

T |
Pandyas (A) =t 3R m@ LE 2
sk, JBY et ik T i
and Pandyas (C) Tegpe 3R wig
‘allavas (D) =iet 3K REE]
| (E) JSmide
78. THUHAW H7 37 £
ransfer Protocol U Oe Q*FH'FI Fililiﬁvl'?l
Transfer Protocol ‘/{(gﬁmﬁ—r TSl ZEHC Mathiar
ransfer Protocol (C) Tt 05 R TEhTe
ansmit Protocol (D) Touer A Tiafe Merwia
(E) 3TSmiim

dtained from T AT '
cours in the form | ﬁ%ﬁ%mﬁ@ggm%

(B) Stucco (A) Rrom B) W

(D) Slate e TR FD} T

(E) 3Ty
80 I A U T H IR

culture,

5 % (IRihE=T) Har T R |
\w(:we; (A) TTET (B), 7t

0a () fafegn &) T

81l.

82.

83
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